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FUEMNSAHA 631,274 423,774 207,500
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BMESTA =4 400,000 200,000 200,000
308 MtXIEHMSOIH 400,000 200,000 200,000
10 SII 2 SOICHEHE & X 2 & A I 400,000 200,000 200,000
O 2= gdu=sg ASUSH(MEH, 22
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HAHS 24 7,500 0 7,500
201 Let24E] 1,000 0 1,000
01 ArR2teltl 1,000 0 1,000
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206 M= Hl 2,000 0 2,000
01 M= 4l 2,000 0 2,000
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2,000,000& = 14l 2,000 0 2,000
301 LB A F 4,500 0 4,500
09 A HIE &S 3,000 0 3,000
O HAtis 88 A 2
50,000& = 302! = 22| 3,000 0 3,000
NJIeEd=s 1,500 0 1,500
O HAUS ZA==& 1,500,000 * 14l 1,500 0 1,500
Est=d s 3,593,556 3,327,946 265,610
= 216,363 211,923 4,440
X 494,000 494,000 0
J| 36,000 36,000 0
=) 31,450 26,200 5,250
s 2,815,743 2,559,823 255,920
Zotd=NdA=H 3,593,556 3,327,946 265,610
= 216,363 211,923 4,440
X 494,000 494,000 0
J| 36,000 36,000 0
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201 Le-2d| 53,630 20,000 33,630
01 At 22l 630 0 630
O oiaaxEn &5 Hagl3d RUEH=HY
ot &3 A=Y 70,0008 * 92! * 13 630 0 630
02 =224l 1,000 0 1,000
O 223 & dHsE LA
1,000,000 * 14 1,000 0 1,000
03 A2 Z Hl 52,000 20,000 32,000
O M473F4 230z BAH(SEHA)
6,000,000& = 14 6,000 0 6,000
O M419F4 5230z =2 H(SEA)
6,000,000& = 14 6,000 0 6,000
O 2018 A= HEEH Ml
20,000,000& =« 14 20,000 0 20,000
301 g2 4= 8,900 20,900 A 12,000
09 SALAHIEAS 6,000 18,000 A 12,000
O H473F=4 SR04l SHAH(SHE)
Z2& 0& 0 6,000 A 6,000
O H4195F4 2304 ==2H(SHE)
28 o0& 0 6,000 A 6,000
307 glz2tol & 447,000 422,000 25,000
02 IS AMHEE 152,000 132,000 20,000
O 2252 NAISsHALS
3 & 112,000,000& = 14 112,000 92,000 20,000
03 BIZHNHE2IHIEL 75,000 70,000 5,000
O 2==25& 2g4l
Z & 75,000,000& * 14 75,000 70,000 5,000
401 Al& I 2 O8I 20,000 35,000 215,000
01 A& tI 20,000 35,000 A 15,000
O &2#==235t& cctv0i &X Z2E 0& 0 15,000 A 15,000
2sol=so ¥ 29 533,200 314,200 219,000
307 2Iztol ™ 380,000 190,000 190,000
05 RIZHRI &3 380,000 190,000 190,000
O 2tz 8¢ 29
Z & 95,000,000& * 4&7| 380,000 190,000 190,000
401 Al HI 2 28I 129,000 100,000 29,000
01 A& HI 129,000 100,000 29,000
O 2attz=2 8 FUHE ZHIA
20,000,000& =« 14 20,000 0 20,000
O 2stoizs 8g FH XNHES(R) 0™ 24
=l 3,000,000& = 14 3,000 0 3,000
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NEES2SHAXJA(SH2H S2AL) 0 60,000 A 60,000
| 0 36,000 236,000
s 0 24,000 A 24,000
201 £B-2d| 0 60,000 260,000
J| 0 36,000 236,000
s 0 24,000 A 24,000
03 A2 Z Hl 0 60,000 A 60,000
O &2 IZAYMEBAY Hd) J3H o 0 60,000 260,000
| 0 36,000 A 36,000
= 0 24,000 A 24,000
Nedsta 22 8,000 5,000 3,000
201 LBt 8,000 5,000 3,000
01 At 22l 3,000 0 3,000
O ZdAIUIDE A BZ 2¢
1,500,000 * 24 3,000 0 3,000
S 230 SHALS 273,980 274,000 A 20
= 200,440 200,000 440
=) 19,450 22,200 22,750
e 54,090 51,800 2,290
301 Lt A= 273,980 274,000 A 20
= 200,440 200,000 440
=) 19,450 22,200 22,750
s 54,090 51,800 2,290
01 MEIBEZE 405z 273,980 274,000 A 20
O Sg=308d AL
Z & 273,980,000 * 14 273,980 274,000 A 20
= 200,440 200,000 440
=) 19,450 22,200 AN2,750
e 54,090 51,800 2,290
HHII2o S 60,000 0 60,000
| 36,000 0 36,000
s 24,000 0 24,000
201 LB-2dH| 60,000 0 60,000
| 36,000 0 36,000
s 24,000 0 24,000
03 A2 Z Hl 60,000 0 60,000
O &82d ZI2AY 60,000,000 = 14l 60,000 0 60,000
| 36,000 0 36,000
i 24,000 0 24,000
H25s] 8=2dAEEM=sM ot N 12,000 0 12,000
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= 8,000 0 8,000
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12,000,000& = 14 12,000 0 12,000
= 4,000 0 4,000
= 8,000 0 8,000
HNEZ3 B& & &S 4,244,683 1,388,683 2,856,000
= 408,200 408,200 0
Xl 1,330,000 0 1,330,000
< 190,690 95,290 95,400
= 2,315,793 885,193 1,430,600
2229 4,244,683 1,388,683 2,856,000
= 408,200 408,200 0
Xl 1,330,000 0 1,330,000
< 190,690 95,290 95,400
= 2,315,793 885,193 1,430,600
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201 2 Bt2 4| 29,740 9,740 20,000
03 #HAF2 G HI 20,000 0 20,000
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20,000,000& = 14 20,000 0 20,000
207 AR 100,000 30,000 70,000
01 23 E S| 100,000 30,000 70,000
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JI2HE) 60,000,000 = 14 60,000 0 60,000
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o] 10,000,000& * 14| 10,000 0 10,000
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01 Al HI 230,000 210,000 20,000
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20,000,000& = 14 20,000 0 20,000
SN2 2= 22| 73,945 69,945 4,000
201 B2 | 17,880 13,880 4,000
01 AR 22| bl 7,840 3,840 4,000
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307 21201 A 5,800 0 5,800
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< 66,917 1,917 65,000
2 8,851,845 5,319,445 3,532,400
RV 10,249,354 5,714,954 4,534,400
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< 65,000 0 65,000
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O ATHAEY GRMS 54 U2
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NI & 3,000 0 3,000
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O HARY BYS= AEA Jojpide 24
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37,693& 38 0 38
O '16¥ =N EESM HHtE 22 ALY 2
HI & el & o 2,382,100& 2,383 0 2,383
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O '168 SEE3M SH A ZHI
900,000& 900 0 900
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Il 2d | 103,189 94,271 8,918
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